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(4.23+0.05%x2+42.56-0.3%x2-0.05%x2) x2x0.4x0.05=0.25m3
(4.23+0.05%x2+2.56+0.05x2+
4.23-0.3%x2-0.05x2+2.56-0.3x2-0.05x2) x2x0.05=1.24m2
(4.23+2.56-0.2%2) x2x0.39%0.2+

(4.23+2.56-0.3x2) x2x0.15x0.30=1.52m3

(4.23+2.56) x2x0.54+ (4.23-0.2%2+2.56-0.2%x2) x2x0.39+
(4.23-0.3x%2+2.56-0.3x2) x2x0.15=13. 68m2
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$D295 D10

0.56 kg/m

SD295 D13

0.995 kg/m

F#/D10 (4.23-0.075%x2+4+2.56-0.075%2) x2=12.98m
12.98-+0.3=43.3=44K
44 x (0.424+0.165) x0.56=14.51kg

BoAnD13 (o) (4.23-0.086%x2+2.56-0.086x2) x2=12.89m
2 x12.89x%0.995=25. 65kg

BoAnrD13 (N)  (4.23-0.228x2+2.56-0.228x2) x2=11.76m
11.76%0.995=11. 70kg

E2gaD10 (4.23-0.086%x24+2.56-0.086%x2) x2=12.89m
12.89%x0.56=17. 22kg
&t 59. 08kg
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93+3.26-1.00x2) x2x0.32=3.96m3
23+0.05%x2+42.56-0.4%x2) x2x0.4=4.87m2

93+3.26-0.3x2) x2x0.10=1.52m3

.93-(0.3+0.4) x2+3.26-1.00%x2) x2x0.10=0.96m3

96-1.52-0. 96=1. 48m3
93+2.56+0.05%x2) x2x0.3=4.55m2

23+0.05%x2+42.56-0.4%x2) x2x0.4=4.87m2

.87x0.1=0.487m3
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HiEUIET (4.93+43.26) x 2=16.38m
BRYEL 4.93%x3.26=16.07m2
4y (4cm) 16.07x0.04= 0. 64m3

0.64x2.35= 1.50t
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